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2L A 15.8 JtiEE 15.6 1,620 1,242 972 10] vay
IZALCA 6.8
ZIES5 5.4 BERE 5.2 2,700 — 2484 10 L
[E<E0y 22.1 E % 19.4 1,404 972 972 15 A L
HTE 2.2 BERE 1.4 1,944 1,512 864 4f A M
ZED: 7.1 BERE 5.4 1512 1,296 1,188 4f A M
Fry 70.8 B E 395 1,080 918 864 10 8
IE5NAZES 2.0 BHE 1.4 173 173 86 02 A M
hE 6.1 X & 3.4 - 648 — 3l vay LL
_hE 1.4 ik B 0.9 4212 3,888 3,564 3 M
_hE 2 [ 0.4 5,184 3,888 3,564 3l A M
125 2.2 ElG 1.0 3,780 3,510 3,240 5] vay
+)L1)— 0.2 & % 0.2 3,456 — 2,808 10 A M
FRINGHR 1.1 N 0.6 — 86 — 0.1 vay M
LA 18.6 E % 18.5 1,604 1512 1,296 10 A 16
FoT YA 1.1 12 [ 0.6 1,134 1,134 810 3 A
=p5Y 16.0 =l 7.2 1,728 1,674 1,512 5/ B M
=p5Y ERE 25 1,080 - 864 5] A L
ANESSES) 3.7 BRE 2.0 2,700 — 1,836 0] A 5
Y 55 EES 2.3 108 — 76 0.4 2
Y = I 2.2 2,268 2,160 1,080 5/ A L
k< 28.3 X & 15.0 1512 — 1,296 4f A 24
TS EES 11.8 1512 1,404 1,296 4 vay L
El 45 EES 3.0 216 194 151 02| vay M
F—<> 7.3 X 7 47 2,160 1,728 1,728 45 A 3L
E53ACL 3.6 X & 1.8 4,320 — 2,700 10 vay LL
x93 1.4 BRE 1.4 92 76 49 0.1 A M
[Zht5HY) 5.9 ERE 5.9 1,782 1,458 1,458 5/ A LL
SPVAITFA 0.4 E % 0.3 5,400 4,860 4374 2 A
MrAL& 3.7 E X 25 2,430 1,836 1,782 5 L
IEhLs 14.3 E 5 13.1 648 — 432 0] A L
IEhi s E 15 1,080 - 432 0] A LL
=& 0.7 = I 0.3 540 421 421 1 A
f=Fh&E 63.5 = B 63.4 3,024 2484 2376 20 va9 L
5oELD 0.7 BRE 0.7 1,080 756 486 0] A M
ELLVE=T 1.1 BRE - 119 — 0.1 Vi L
ELLV=IT E 15 0.4 - 86 - 01 M
ZADEET 3.6 E I 2.6 35 22 18 0.1 A
LoHL 0.8 2 [ 0.8 - 108 — 017l A
L EA S 339.5
B=
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BMAHMAEE 49
INDRH A 49 = B 47 3,240 1,944 1,944 5 L
INGRH DA i B 3,456 — 2,268 5 M
INDRFH A £ B - 2,268 — 5 S
LEY 0.8 F Y 0.3 7,560 7,344 7,020 17 115
INLULT 0.5 = I 0.5 7,776 7,776 7,344 17 72
L7 2)1LY 0.2 m7r7Y 0.2 4968 — 4,320 15 45
YATE 11.9
2aF3ILK 95 5 & 9.5 6,048 5,724 5,724 10{ Wy 36
AL 2.0 5 & 2.0 7,344 6,264 6,264 10 46
3HET 45
) 45 EES 0.4 - 540 — 05 vay 4L
FTHHE 0.2
ERGS 0.2 X & 0.1 1,944 — 1,728 1.6] vay 3L
B35 0.1 JtiEE 0.1 — 756 — 0.18] vay LL
fipYp) JeiEE - 756 — 0.18] vay L
fipYp) JeiEE - 702 — 0.18] vay M
SESE 2.3
To9x7F 1.0 =l 0.2 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9x7F =l - - - PR M
Big 0.8 2 E 0.6 - 2,808 — 14| B 4L
EA—* 0.2 2 [ 0.1 3,024 — 2,808 14| B 4L
AOVEF 2.8
7—ILR 0.5 = I 0.4 2,376 1,944 1,944 35
AHI 0.8 Z 40 0.8 - 3,024 — 4f vy 3L
ZDhAOY 15 EES 0.3 7,020 — 5,940 s| 1y 3L
FULIVAEL 32.0
ERRY 29.7 BRE 26.1 2,700 2376 2,160 6] A L
CfEETLH 24 BRE 24 4,320 4320 3,456 0] A 3L
INFF 15.6 EYEY 15.6 4514 2,948 2,700 15
INMFyTIL 2.3 EYEY 1.7 3,564 - 2,376 10 8
FoA4T)LY 3.7 —T 3.7 5,076 4212 4212 5.8 30
BEHE 82.3




